Undergraduate Programmes (Full-time) 本科生課程(全日制)

Programme fees (Non-local students) 課程收費(非本地學生)

Programme Code 課程編號			Duration	Estimated Programme Fees in 2020/2021	Estimated Whole Programme Fees	
Year 1 Entry 一年級入學	Senior Year Entry 高年級入學	Programme Title 課程名稱	of Study 修讀期	(HKS)# 2020/2021 全年 課程收費約為 (港幣)#	(HKS)# 課程總收費約為 (港幣)#	
School of Arts	and Social Scie	ences 人文社會科學院 (A&SS)				
BAHCLLJ1	-	Bachelor of Arts with Honours in Chinese (Year 1 Entry)	4 years	98,680	394,720	
_	BAHCLLJS	Bachelor of Arts with Honours in Chinese (Senior Year Entry) -	3 years	98,680	296,040	
			2 years	98,680	197,360	
BAHCAMDJ1	-	Bachelor of Arts with Honours in Creative Advertising and Media Design (Year 1 Entry)	4 years	101,240	404,960	
_	BAHCAMDJS	Bachelor of Arts with Honours in Creative Advertising and Media	3 years	101,240	303,720	
	D/ 11 TC/ 11 VID 35	Design (Senior Year Entry)	2 years	101,240	202,480	
BAHCWFAJ1	-	Bachelor of Arts with Honours in Creative Writing and Film Arts (Year 1 Entry)	4 years	101,240	404,960	
_	BAHCWFAJS	Bachelor of Arts with Honours in Creative Writing and Film Arts	3 years	101,240	303,720	
	DAITEWIAG	(Senior Year Entry)	2 years	101,240	202,480	
_	BAHECLJS	Bachelor of Arts with Honours in English and Comparative	3 years	98,680	296,040	
	DATILCES	Literature (Senior Year Entry)	2 years	98,680	197,360	
BAHELCJ1	-	Bachelor of Arts with Honours in English Language and Culture (Year 1 Entry)	4 years	98,680	394,720	
BAHLTJ1	-	Bachelor of Arts with Honours in Language Studies and Translation (Year 1 Entry)	4 years	98,680	394,720	
	DALUTIC	Bachelor of Arts with Honours in Language Studies and Translation	3 years	98,680	296,040	
-	BAHLTJS	(Senior Year Entry)	2 years	98,680	197,360	
BFAHAVEJ1	-	Bachelor of Fine Arts with Honours in Animation and Visual Effects (Year 1 Entry)	4 years	127,080	508,320	
	DEALLAN (ELC	Bachelor of Fine Arts with Honours in Animation and Visual	3 years	127,080	381,240	
_	BFAHAVEJS	Effects (Senior Year Entry)	2 years	127,080	254,160	
BFAHIDDAJ1	-	Bachelor of Fine Arts with Honours in Imaging Design and Digital Art (Year 1 Entry) (Formerly known as Bachelor of Fine Arts with Honours in Cinematic Design and Photographic Digital Art)	4 years	107,160	435,200	
	DEALIDE ALC	Bachelor of Fine Arts with Honours in Cinematic Design and	3 years	104,000	322,600	
-	BFAHPDAJS	Photographic Digital Art (Senior Year Entry)	2 years	104,000	211,280	
BSSCHAGSJ1	-	Bachelor of Social Sciences with Honours in Ageing Society and Services Studies (Year 1 Entry)	4 years	98,680	394,720	
-	BSSCHAGSJS	Bachelor of Social Sciences with Honours in Ageing Society and Services Studies (Senior Year Entry)	3 years	98,680	296,040	
-	BSSCHECJS	Bachelor of Social Sciences with Honours in Applied Economics (Senior Year Entry)	2 years	98,680	197,360	
BSSCHJ1	-	Bachelor of Social Sciences with Honours in Applied Social Studies (Year 1 Entry)	4 years	98,680	394,720	
	December	Bachelor of Social Sciences with Honours in Applied Social Studies	3 years	98,680	296,040	
-	BSSCHJS	(Senior Year Entry)	2 years	98,680	197,360	
BSSCHEPAJ1	-	Bachelor of Social Sciences with Honours in Economic and Public Policy Analysis (Year 1 Entry)	4 years	98,680	394,720	
	BSSCHEPAJS	Bachelor of Social Sciences with Honours in Economic and Public Policy Analysis (Senior Year Entry)	3 years	98,680	296,040	
-			2 years	98,680	197,360	
BSSCHGCSJ1	-	Bachelor of Social Sciences with Honours in Global and China Studies (Year 1 Entry)	4 years	98,680	394,720	
-	BSSCHGCSJS	Bachelor of Social Sciences with Honours in Global and China Studies (Senior Year Entry)	3 years	98,680	296,040	
BSSCHPAJ1	-	Bachelor of Social Sciences with Honours in Politics and Public Administration (Year 1 Entry)	4 years	98,680	394,720	
		Bachelor of Social Sciences with Honours in Politics and Public	3 years	98,680	296,040	
-	BSSCHPAJS	Administration (Senior Year Entry)	2 years	98,680	197,360	
			_ ,	30,000	,	

Programme Code 課程編號				Estimated Programme Fees in 2020/2021	Estimated Whole	
Year 1 Entry 一年級入學	Senior Year Entry 高年級入學	Programme Title 課程名稱	Duration of Study 修讀期	(HK\$)# 2020/2021 全年 課程收費約為 (港幣)#	Programme Fees (HK\$)# 課程總收費約為 (港幣)#	
BSSCHPJ1	-	Bachelor of Social Sciences with Honours in Psychology (Year 1 Entry)	4 years	98,680	394,720	
-	BSSCHPJS	Bachelor of Social Sciences with Honours in Psychology (Senior Year Entry)	3 years	98,680	296,040	
BSSCHPMHJ1	_	Bachelor of Social Sciences with Honours in Psychology and	2 years 4 years	98,680 98,680	197,360 394.720	
	School of Busin	Mental Health (Year 1 Entry) Less and Administration 李兆基商業管理學院 (B&A)	. years		33 1/1 20	
BBAHATJ1	-	Bachelor of Business Administration with Honours in Accounting and Taxation (Year 1 Entry)	4 years	114,579	458,316	
-	BBAHATJS	Bachelor of Business Administration with Honours in Accounting and Taxation (Senior Year Entry)	3 years 2 years^	114,579 139,249	356,072 266,163	
BBAHMGTJ1	_	Bachelor of Business Administration with Honours in Business	4 years	114,579	458,316	
		Management (Year 1 Entry) Bachelor of Business Administration with Honours in Business	3 years	114,579	343,737	
-	BBAHMGTJS	Management (Senior Year Entry)	2 years	114,579	229,158	
BBAHCGJ1	-	Bachelor of Business Administration with Honours in Corporate Governance (Year 1 Entry)	4 years	114,579	458,316	
	BBAHCGJS	Bachelor of Business Administration with Honours in Corporate	3 years	114,579	343,737	
_	ввансаз	Governance (Senior Year Entry)	2 years	114,579	229,158	
BBAHDBJ1	-	Bachelor of Business Administration with Honours in Digital Business (Year 1 Entry)	4 years	114,579	458,316	
_	BBAHDBJS	Bachelor of Business Administration with Honours in Digital	3 years	114,579	343,737	
	557 11 15 535	Business (Senior Year Entry)	2 years^	126,914	241,493	
_	BBAHFJS	Bachelor of Business Administration with Honours in Finance (Senior Year Entry)	3 years	114,579	343,737	
BBAHFRMJ1	_	Bachelor of Business Administration with Honours in Finance and Risk Management (Year 1 Entry)	2 years 4 years	114,579 114,579	229,158 458,316	
		Bachelor of Business Administration with Honours in Finance	3 years	114,579	343,737	
-	BBAHFRMJS	and Risk Management (Senior Year Entry)	2 years	114,579	229,158	
BBAHGBMJ1	-	Bachelor of Business Administration with Honours in Global Business and Marketing (Year 1 Entry)	4 years	114,579	458,316	
_	BBAHGBMJS	Bachelor of Business Administration with Honours in Global	3 years	114,579	343,737	
_	ClividDINAdd	Business and Marketing (Senior Year Entry)	2 years	114,579	229,158	
BBAHHSTMJ1	-	Bachelor of Business Administration with Honours in Hotel and Sustainable Tourism Management (Year 1 Entry)	4 years	114,579	458,316	
_	BBAHHSTMJS	Bachelor of Business Administration with Honours in Hotel and	3 years	114,579	343,737	
	Sustainable Tourism Management (Senior Year Entry)		2 years	114,579	229,158	
BBAHPAJ1	-	Bachelor of Business Administration with Honours in Professional Accounting (Year 1 Entry)	4 years	114,579	458,316	
-	BBAHPAJS	Bachelor of Business Administration with Honours in Professional Accounting (Senior Year Entry)	3 years	114,579	343,737	
DD A LIDEEN ALL		Bachelor of Business Administration with Honours in Real Estate	2 years^	126,914	241,493	
BBAHREFMJ1	_	and Facilities Management (Year 1 Entry)	4 years	114,579	458,316 	
-	BBAHREFMJS	Bachelor of Business Administration with Honours in Real Estate and Facilities Management (Senior Year Entry)	3 years 2 years	114,579 114,579	343,737 229,158	
BBAHSEMJ1	_	Bachelor of Business Administration with Honours in Sports and eSports Management (Year 1 Entry)	4 years	114,579	458,316	
	BBAHSEMJS	Bachelor of Business Administration with Honours in Sports and eSports Management (Senior Year Entry)	3 years	114,579	343,737	
_			2 years	114,579	229,158	
_	BBABFFS	Bachelor of Business Administration in Banking and Finance	2 years	114,579	229,158	
	ר ו וטר <i>וט</i> ט	(Senior Year Entry)	1 year	114,579	114,579	
-	BBACAFS	Bachelor of Business Administration in Corporate Administration (Senior Year Entry)	2 years 1 year	114,579 114,579	229,158 114,579	
		(Seriior Tear Littly)	ı yeai	117,575		

Programme Title Programme	Programme Code 課程編號				Estimated Programme Fees	Estimated Whole	
BBAHFOW Secretor of Business Administration in Immardianal Business 2 years 114,579 229,158		Entry			2020/2021 全年 課程收費約為	課程總收費約為	
BRAMES Bachelor of Business Administration in International Business 2 years 114,579 11	_	RRAHRMES	Bachelor of Business Administration in Human Resource	2 years	114,579	229,158	
BRAMETIS Senior Year Entry 1 year		DDAI IINIVII 3	Management (Senior Year Entry)	1 year	114,579	114,579	
BRAMGTES Section of Business Administration in Management 2 years 114,579 11	_	BBAIBFS		2 years			
BBAMKTFS			<u> </u>				
BBANKTIS Bachelor of Business Administration in Marketing 2 years 114,579 229,158 14,579 114	-	BBAMGTFS					
BBAMIKIES							
BIMMES	-	BBAMKTFS					
Tyear 114,579 114,579 114,579 114,579 114,579 2 years 114,579 3 years 114,579 3 years 1 year							
BRAHBIAIS Bachelor of Theme Park Management (Senior Year Entry) 1 year	-	BHMFS	Bachelor of Hospitality Management (Senior Year Entry)				
BBAHBIANS Bachelor of Business Administration with Honours in Business 3 years 114,579 229,158							
BBAHBIAJS Bachelor of Business Administration with Honours in Business 3 years 114,579 229,158	-	BTPMFS	Bachelor of Theme Park Management (Senior Year Entry)				
BBAHFII1			Rachelor of Rusiness Administration with Honours in Rusiness				
BBAHFTUI	-	BBAHBIAJS					
BBAHFIJS Bachelor of Business Administration with Honours in Financial Technology and Innovation (Senior Year Entry) 2 years 114,579 229,158	BBAHFTIJ1	-	Bachelor of Business Administration with Honours in Financial			· · · · · · · · · · · · · · · · · · ·	
BBAHFIUS Technology and Innovation (Senior Year Entry) 2 years 114,579 229,158				3 years	114,579	343,737	
Bachelor of Business Administration with Honours in Global Marketing and Supply Chain Management (Year 1 Entry) 4 years	-	BBAHFTIJS					
BBAHGMSMJS Bachelor of Business Administration with Honours in Global Marketing and Supply Chain Management (Senior Year Entry) 2 years 114,579 229,158 BIHAMHJ1 — Bachelor of International Hospitality and Attractions Management with Honours (Year I Entry) 4 years 114,579 343,737 BIHAMHJS Bachelor of International Hospitality and Attractions Management 3 years 114,579 343,737 with Honours (Senior Year Entry) 2 years 114,579 329,158 BSRMHJ1 — Bachelor of Sports and Recreation Management with Honours (Year I Entry) 4 years 114,579 229,158 BSRMHJ1 — BSRMHJS Bachelor of Sports and Recreation Management with Honours (Year I Entry) 4 years 114,579 343,737 Cyear I Entry) 4 years 114,579 343,737 School of Education and Language 3	BBAHGMSMJ1	-					
BBAHCMMMS Marketing and Supply Chain Management (Senior Year Entry) 2 years 114,579 229,158				3 years	114,579	343,737	
### Honours (Year 1 Entry) ### Honours (Year 1 Entry) ### Bachelor of International Hospitality and Attractions Management with Honours (Year 1 Entry) ### Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) ### Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) ### Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) ### Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) ### Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) ### Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) ### Bachelor of Education with Honours (Chinese Languages ** ** ** ** ** ** ** ** ** ** ** ** **	-	BBAHGMSMJS		2 years			
### BIHAMHJS with Honours (Senior Year Entry) Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) Bachelor of Sports and Recreation Management with Honours (Year 1 Entry) Bachelor of Sports and Recreation Management with Honours (Senior Year Entry) Bachelor of Sports and Recreation Management with Honours (Senior Year Entry) Bachelor of Sports and Recreation Management with Honours (Senior Year Entry) Bachelor of Sports and Recreation Management with Honours (Senior Year Entry) Bachelor of Education with Honours (Chinese Language Teaching) and Bachelor of Language (Year 1 Entry) Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) BEDHECEJ1 BEDHECEJ1 Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) Cenior Year Entry) Bachelor of Education with Honours in English Language Teaching and Bachelor of English Language Studies with Honours (Year 1 Entry) BEDELSEHJS BEDELSEHJS Bachelor of Education with Honours in English Language Teaching and Bachelor of English Language Studies with Honours (Year 1 Entry) BLSEHJS Bachelor of English Language Studies with Honours (Year 1 Entry) BLSEHJS Bachelor of English Language Studies with Honours (Year 1 Entry) BLSEHJS Bachelor of English Language Studies with Honours (Year 1 Entry) BLSEHJS Bachelor of English Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BLSHACLSJI BLSHACLSJI BLSHACLSJI BLSHACLSJI Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BLSHACLSJI BLSHACLSJI Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry)	ВІНАМНЈ1	-		4 years	114,579	458,316	
with Honours (Senior Year Entry) BSRMHJ1 - Bachelor of Sports and Recreation Management with Honours (Year I Entry) - BSRMHJ5 Bachelor of Sports and Recreation Management with Honours (Year I Entry) School of Education and Languages 教育及語文學院 (E&L) BEDHACLSJ1 - Bachelor of Education with Honours (Chinese Language Teaching) and Bachelor of Language Studies With Honours (Applied Chinese Language Studies With Honours (Applied Chinese Language Studies) (Year 1 Entry) BEDHECEJ1 - Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) BEDHECEJ1 - Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) BEDHECEJ1 - Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) 2 years 98,560 197,120 (Senior Year Entry) BEDHECEJ1 - Bachelor of Education with Honours in English Language Teaching and Bachelor of English Language Teaching Teach Tea		BIHAMHJS	Bachelor of International Hospitality and Attractions Management	3 years	114,579	343,737	
Seminary	-			2 years	114,579	229,158	
School of Education and Languages 教育及語文學院 (E&L) BEDHACLSJ1 - Bachelor of Education with Honours (Chinese Language Teaching) and Bachelor of Language Studies With Honours (Applied Chinese Language Studies) (Year 1 Entry) BEDHECEJ1 - Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) BEDHECEJS (Senior Year Entry) Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) BEDHECEJS (Senior Year Entry) Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) Bebelsehji - Language Teaching and Bachelor of English Language Teaching and Teaching and Bachelor of English Language Teaching and Bachelor of English Language Teaching and Bachelor of English Language T	BSRMHJ1	-		4 years	114,579	458,316	
School of Education and Languages 教育及語文學院 (E&L) BEDHACLSJ1 - Bachelor of Education with Honours (Chinese Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BEDHECEJ1 - Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) BEDHECEJS (Leadership and Special Educational Needs) (Year 1 Entry) BEDHECEJS (Senior Year Entry) Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) BEDELSEHJ1 - Bachelor of Education with Honours in English Language Teaching and Bachelor of English Language Teac		DCDMILIC	Bachelor of Sports and Recreation Management with Honours	3 years	114,579	343,737	
BEDHACLSJ1 — Bachelor of Education with Honours (Chinese Language Teaching) and Bachelor of Language Studies) Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BEDHECEJ1 — Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) Bechelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Senior Year Entry) Bachelor of Education with Honours in English Language Teaching and Bachelor of English Language Studies with Honours (Year 1 Entry) Bechelor of Education with Honours in English Language Teaching and Bachelor of English Language Studies with Honours (Senior Year Entry) BLSEHJ1 — Bachelor of English Language Studies with Honours (Year 1 Entry) BLSEHJ1 — Bachelor of English Language Studies with Honours (Year 1 Entry) BLSEHJ5 Bachelor of English Language Studies with Honours (Senior Year Entry) Bachelor of English Language Studies with Honours (Senior Year Entry) Bachelor of English Language Studies with Honours (Senior Year Entry) Bachelor of English Language Studies with Honours (Senior Year Entry) Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BLSHACLSJ1 — Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BLSHACLSJ3 Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BLSHACLSJ3 Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry)	_	CYLININGO	(Senior Year Entry)	2 years	114,579	229,158	
BEDHACLSJ1 - Language Teaching) and Bachelor of Language Studies) Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) BEDHECEJ1 - Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) Bachelor of Education with Honours in Early Childhood Education (Leadership and Special Educational Needs) (Year 1 Entry) BEDHECEJS (Senior Year Entry) Bachelor of Education with Honours in English Language Teaching and Bachelor of English Language Teaching a	School of Edu	cation and Lang					
Cleadership and Special Educational Needs) (Year 1 Entry) 4 years 109,564 422,968	BEDHACLSJ1	-	Language Teaching) and Bachelor of Language Studies with Honours (Applied Chinese Language Studies)	4 years	99,200	496,000	
BEDHECEJS (Leadership and Special Educational Needs) 2 years 98,560 197,120	BEDHECEJ1	-	·	4 years^	109,564	422,968	
BEDELSEHJ1 - Language Teaching and Bachelor of English Language Studies with Honours (Year 1 Entry) Bachelor of Education with Honours in English Language Teaching and Bachelor of English Language Teaching and Bachelor of English Language Studies with Honours (Senior Year Entry) BLSEHJ1 - Bachelor of English Language Studies with Honours (Year 1 Entry) 4 years 98,960 395,840 BLSEHJS Bachelor of English Language Studies with Honours (Year 1 Entry) 4 years 98,960 296,880 (Senior Year Entry) BLSHACLSJ1 - Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) Bachelor of Language Studies with Honours (Applied Chinese 3 years 99,080 297,240	-	BEDHECEJS	(Leadership and Special Educational Needs)	2 years	98,560	197,120	
- BEDELSEHJS Language Teaching and Bachelor of English Language Studies with Honours (Senior Year Entry) BLSEHJ1 - Bachelor of English Language Studies with Honours (Year 1 Entry) 4 years 98,960 395,840 - BLSEHJS Bachelor of English Language Studies with Honours (Year 1 Entry) 2 years 98,960 296,880 (Senior Year Entry) 2 years 98,960 197,920 BLSHACLSJ1 - Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) 3 years 99,080 396,320 BLSHACLSJS Bachelor of Language Studies with Honours (Applied Chinese 3 years 99,080 297,240	BEDELSEHJ1	-	Language Teaching and Bachelor of English Language degree	4 years	99,440	497,200	
BLSHACLSJI Bachelor of English Language Studies with Honours (Senior Year Entry) 2 years 98,960 296,880 BLSHACLSJI - Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) 4 years 99,080 396,320 BLSHACLSJS Bachelor of Language Studies with Honours (Applied Chinese 3 years 99,080 297,240	-	BEDELSEHJS	Language Teaching and Bachelor of English Language	3 years^*	161,590	410,190	
Comparison of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) 2 years 98,960 197,920	BLSEHJ1	-	Bachelor of English Language Studies with Honours (Year 1 Entry)	4 years	98,960	395,840	
BLSHACLSJ1 - Bachelor of Language Studies with Honours (Applied Chinese Language Studies) (Year 1 Entry) Bachelor of Language Studies with Honours (Applied Chinese 3 years 99,080 297,240	_	BLSEHJS	(Senior Year Entry)	3 years	98,960	296,880	
Language Studies) (Year 1 Entry) 4 years 99,080 396,320 BLSHACLSJS Bachelor of Language Studies with Honours (Applied Chinese 3 years 99,080 297,240				2 years	98,960	197,920	
- BLSHACLSIS	BLSHACLSJ1	-		4 years	99,080	396,320	
Language Studies) (Senior Year Entry) 2 years 99,080 198,160		BISHACISIS		3 years	99,080	297,240	
	_	DESI IACESIS	Language Studies) (Senior Year Entry)	2 years	99,080	198,160	

Programme Code 課程編號				Estimated Programme Fees	Estimated Whole		
Year 1 Entry 一年級入學	Senior Year Entry 高年級入學	Programme Title 課程名稱	Duration of Study 修讀期	in 2020/2021 (HK\$)# 2020/2021 全年 課程收費約為 (港幣)#	Programme Fees (HK\$)# 課程總收費約為 (港幣)#		
School of Nursing and Health Studies 護理及健康學院 (N&HS)							
BSCHPTJ1	-	Bachelor of Science with Honours in Physiotherapy (Year 1 Entry)	4 years^	208,000	832,000		
BNHGJ1	-	Bachelor of Nursing with Honours in General Health Care (Year 1 Entry)	5 years	160,360	801,800		
BNHMJ1	-	Bachelor of Nursing with Honours in Mental Health Care (Year 1 Entry)	5 years	160,360	801,800		
School of Scien	nce and Techno	logy 科技學院 (5&T)					
BCOMPHITJ1	-	Bachelor of Computing with Honours in Internet Technology (Year 1 Entry)	4 years	98,680	394,720		
_	BCOMPHITJS	Bachelor of Computing with Honours in Internet Technology	3 years^	111,015	308,375		
	DCOIVII TIII 133	(Senior Year Entry)	2 years^	111,015	209,695		
-	BENGHBSEJS	Bachelor of Engineering with Honours in Building Services Engineering and Sustainable Development (Senior Year Entry)	2 years^	107,800	218,720		
-	BENGHCEEJS	Bachelor of Engineering with Honours in Civil and Environmental Engineering (Senior Year Entry)	2 years^	107,800	218,720		
BENGHECEJ1	-	Bachelor of Engineering with Honours in Electronic and Computer Engineering (Year 1 Entry)	4 years	100,680	427,890		
BENGHTCJ1	-	Bachelor of Engineering with Honours in Testing and Certification (Year 1 Entry)	4 years	130,200	553,350		
_	BENGHTCJS	Bachelor of Engineering with Honours in Testing and Certification _ (Senior Year Entry)	3 years^	146,475	423,150		
			2 years^	146,475	276,675		
-	BSCHCEFS	Bachelor of Science with Honours in Computer Engineering (Senior Year Entry)	2 years	98,680	197,360		
_	BSCHCSJS	Bachelor of Science with Honours in Computer Science (Senior Year Entry)	3 years	98,680	296,040		
	DOCTICOTO		2 years	98,680	197,360		
-	BSCHCCSJS	Bachelor of Science with Honours in Cyber and Computer Security (Senior Year Entry)	2 years	100,680	201,360		
BSCHDSJ1	-	Bachelor of Science with Honours in Data Science (Year 1 Entry)	4 years	98,680	394,720		
-	BSCHDSJS	Bachelor of Science with Honours in Data Science (Senior Year Entry)	2 years	98,680	197,360		
BSCHESGMJ1	-	Bachelor of Science with Honours in Environmental Science and Green Management (Year 1 Entry)	4 years	107,800	431,200		
_	BSCHESGMJS	Bachelor of Science with Honours in Environmental Science and	3 years	107,800	323,400		
	DOCTIESGIVIS	Green Management (Senior Year Entry)	2 years	107,800	215,600		
BSCHFTSJ1	-	Bachelor of Science with Honours in Food Testing Science (Year 1 Entry)	4 years	107,800	431,200		
_	BSCHFTSJS	Bachelor of Science with Honours in Food Testing Science	3 years	107.800	323,400		
	DJCIII IJJJ	(Senior Year Entry)	2 years	121,275	215,600		
BSCHLSJ1	-	Bachelor of Science with Honours in Life Sciences (Year 1 Entry)	4 years	104,040	416,160		
_	BSCHLSJS	Bachelor of Science with Honours in Life Sciences (Senior Year Entry)	3 years	104,040	312,120		
	DOCTIEDIO		2 years	104,040	208,080		
BSCHTSCJ1	-	Bachelor of Science with Honours in Testing Science and Certification (Year 1 Entry)	4 years	104,360	417,440		
-	BSCHTSCJS	Bachelor of Science with Honours in Testing Science and Certification (Senior Year Entry)	3 years	104,360	313,080		

Programme Code 課程編號			D	Estimated Programme Fees in 2020/2021	Estimated Whole	Jointly
Year 1 Entry 一年級入學	Senior Year Entry 高年級入學	Programme Title 課程名稱	Duration of Study 修讀期	(HK\$)# 2020/2021 全年 課程收費約為 (港幣)#	Programme Fees (HK\$)# 課程總收費約為 (港幣)#	Offered by School 合辦學院
BAPHBMJ1	-	Bachelor of Applied Psychology with Honours, Bachelor of Business Management with Honours (Year 1 Entry)	4 years	98,680	493,400	A&SS B&A
-	BAHCIEFS	Bachelor of Arts with Honours in Computing and Interactive Entertainment (Senior Year Entry)	2 years	111,015	209,695	A&SS S&T
BLSBCGBHJ1	-	Bachelor of Language Studies with Honours (Bilingual Communication), Bachelor of Global Business with Honours (Year 1 Entry)	4 years	98,920	494,600	B&A E&L

Notes:

The estimated composite tuition/programme fees listed above are for reference only. Tuition fees are charged according to the number of course credits taken by a student. A student will normally take 40 credits in an academic year. Non-local students will be charged at a higher rate.

The composite tuition/programme fees listed above have included laboratory/practicum/immersion course fees etc., if applicable.

There will be an annual adjustment of tuition fees which will be capped at the actual Composite Consumer Price Index (CCPI) to be announced by the HKSAR Government. The estimated composite tuition/programme fees for the whole programme have not yet taken into account the CCPI for the second to fourth (or fifth) year, i.e. the 2021/2022 to 2023/ 2024 (or 2024/2025) academic years.

The Immersion Course fees do not include the incidental expenses, such as airfare and accommodation fees, of the study tour of the Course.

- ^ Students of these programmes may be required to take more than 40 credits of courses in the first year of studies.
- * Students who have not studied developmental psychology at sub-degree level are required to take an additional 5-credit psychology course. The required tuition fees is included in the above table.

註:

上列課程綜合收費僅供參考。學生每年需繳交的學費取決於所修科目的學分。學生在每學年一般需要修讀 40 學分。非本地學生需要繳付較高的學費。

上列課程綜合收費已包括實驗/實習/沉浸課程等費用,如適用。每年學費的調整上限一般將按照香港特別行政區政府公布之實際綜合消費物價指數(CCPI)而定。上列課程綜合收費並未包括第二(2021至2022)至第四(2023至2024)(或第五(2024至2025))學年,因應實際綜合消費物價指數(CCPI)而作出的調整。上列的沉浸課程費用並不包括學生於修讀課程期間進行遊學活動時所需的費用,如機票及住宿費。

- ^ 此等課程的學生或需要在第一年修讀多於 40 學分的科目。
- * 如學生在副學位課程中沒有修讀發展心理學,則需額外修讀 5 學分的心理學科目。所需學費已包括於上述列表內。